## ITEMS REQUIRING BOCC APPROVAL (2 ITEMS)

# 1. FOUR WHEEL DRIVE CREW CAB TRUCKS -- SEDGWICK COUNTY FIRE DISTRICT #1 FUNDING -- FIRE DISTRICT ADMINISTRATION

(Request sent to 66 vendors)

### RFB #16-0083 SC #8000096521

	Qty.	Hudiburg Chevrolet LLC		Don Hattan Chevrolet, Inc.	
		Unit Price	Ext. Price	Unit Price	Ext. Price
1. Four Wheel Drive Crew Cab Truck	2	\$50,427.00	\$100,854.00	\$49,950.00	\$99,900.00
2. Manuals	3	\$100.00	\$200.00 (One manual provided)	Included	
3. Model		Chevrolet CK25743		Chevrolet CK25743	
Grand Total		\$100,854.00		\$99,900.00	
Delivery		120-140 Days ARO		90 Days ARO	
Acknowledge Addenda		Yes		Yes	
		Hourly Labor	Rate		
Year 1		\$	\$119.00 \$95.		5.00
Year 2		\$119.00		\$95.00	
Year 3		\$119.00		\$95.00	
Parts: cost + mark up		75%		18%	
Freight charge, pickup and delivery (one way)		\$600.00		Included	

#### **BOARD OF BIDS AND CONTRACTS OCTOBER 27, 2016**

	Qty.	Allen Samuels of Hutchinson, Inc.		Davis-Moore Chevrolet, Inc.		
		Unit Price	Ext. Price	<b>Unit Price</b>	Ext. Price	
1. Four Wheel Drive Crew Cab Truck	2	\$46,740.00	\$93,480.00	\$49,075.00	\$98,150.00	
2. Manuals	3	\$160.00	\$480.00	\$150.00	\$450.00	
3. Model		Dodge Ram 2500 Crew 4x4		Chevrolet CK25743		
Grand Total		\$93,960.00 <b>\$98,600.</b>		00.00		
Delivery	rery 18		Days ARO	90-120 Days ARO		
Acknowledge Addenda			Yes Yes		es	
Hourly Labor Rate						
Year 1		\$	109.00	\$89.95		
Year 2		\$109.00		\$89.95		
Year 3		\$109.00 <b>\$89.95</b>		0.95		
Parts: cost + mark up			30%	20%		
Freight charge, pickup and delivery (one way)		\$50.00 <b>\$25.0</b> 0		5.00		
No Bids		Cable Dahm	er of Kansas City	Mel Hambelton Ford, Inc.		
		Eddy's Fo	ord of Augusta	Rusty Eck Ford, Inc.		
		Fleet Sales, LLC		Whiteside Of St. Clairsville, Inc.		
		Kline Motors, Inc.				

On the recommendation of Britt Rosencutter, on behalf of Sedgwick County Fire District #1, David Spears moved to accept the low responsive bid from Davis-Moore Chevrolet, Inc. in the amount of \$98,600.00 and establish contract rates as listed for three (3) years. Linda Kizzire seconded the motion. The motion passed unanimously.

Allen Samuels of Hutchinson, Inc. had the low bid but did not meet specifications in engine horsepower (395 was specified, 370 was bid), and axle ratio (3.73 was specified, 3.42 was bid).

### Questions and Answers

Tim Kaufman asked: "Do we have any idea why we only have one responsive bid?"

Joe Thomas responded: "There was only one that was non-responsive, the others - Hudiburg, Don Hattan, and Davis-Moore. It was just Allen Samuels."

Linda Kizzire said: "I'm just glad it was a local vendor - being Davis-Moore Chevrolet."

# 2. FOUR WHEEL DRIVE DOUBLE CAB TRUCKS -- SEDGWICK COUNTY FIRE DISTRICT #1 FUNDING -- FIRE DISTRICT ADMINISTRATION

(Request sent to 66 vendors)

RFB #16-0084 SC#8000096527

	Qty.	Rusty	Eck Ford, Inc.	Hudiburg Chevrolet LLC		
	Qiy.	Unit Price	Ext. Price	Unit Price	Ext. Price	
1. Four Wheel Drive Double Cab Truck	2	\$54,439.00	\$108,878.00	\$49,308.00	\$98,616.00	
2. Manuals	3	\$180.00	\$360.00 (One manual provided)	\$50.00	\$100.00 (One manual provided)	
3. Model		Ford F-350 SuperCab		Chevrolet CK35953		
Grand Total		\$108,878.00		\$98,616.00		
Delivery		90-120 Days ARO		120-140 Days ARO		
Acknowledge Addendum		No		Yes		
		Hourly	Labor Rate			
Year 1			\$95.00		\$119.00	
Year 2			\$97.50		\$119.00	
Year 3		\$99.96		\$119.00		
Parts: cost + mark up		20% 75%		75%		
Freight charge, pickup and delivery (one way)		Included		\$600.00		
	Qty.	Allen Samuels of Hutchinson, Inc.		Davis-Moore Chevrolet, Inc.		
	Qty.	Unit Price	Ext. Price	Unit Price	Ext. Price	
1. Four Wheel Drive Double Cab Truck	2	\$55,238.00	\$110,476.00	\$54,800.00	\$109,600.00	
2. Manuals	3	\$160.00	\$480.00	\$150.00	\$300.00 (One manual provided)	
3. Model		Dodge Ram	3500 Crew SLT 4x4	Che	vrolet CK35953	
Grand Total		\$1	110,956.00		\$109,600.00	
Delivery		180 Days ARO		90-120 Days ARO		
Acknowledge Addendum		Yes		No		
Hourly Labor Rate						
Year 1		\$109.00		\$89.95		
Year 2		\$109.00		\$89.95		
Year 3			109.00 \$89.95		\$89.95	
Parts: cost + mark up		30%		20%		
Freight charge, pickup and delivery (one wa	ny)	\$50.00 \$25.00		\$25.00		

### **BOARD OF BIDS AND CONTRACTS OCTOBER 27, 2016**

	Qty.	Don Hattan Chevrolet, Inc.		No Bids	
		<b>Unit Price</b>	Ext. Price	Eddy's Ford of Augusta	
1. Four Wheel Drive Double Cab Truck	2	\$54,400.00	\$108,800.00	Fleet Sales, LLC	
2. Manuals	3	Included		Kline Motors, Inc.	
3. Model		Chevrolet CK35953		Lubbers Chevrolet Ford, Inc.	
Grand Total		\$108,800.00		Marshall Motors Company Inc.	
Delivery		95 Days ARO		Whiteside Of St. Clairsville, Inc.	
Acknowledge Addendum		Yes		Zeller Motor Company, Inc.	
		Hourly	Labor Rate		
Year 1	\$95.00				
Year 2		\$95.00			
Year 3			\$95.00		
Parts: cost + mark up		18%			
Freight charge, pickup and delivery (one way)		Included			

On the recommendation of Britt Rosencutter, on behalf of Sedgwick County Fire District #1, Linda Kizzire moved to accept the low responsive bid from Don Hattan Chevrolet, Inc. in the amount of \$108,800.00 and establish contract rates as listed for three (3) years. Tim Kaufman seconded the motion. The motion passed unanimously.

Hudiburg Chevrolet LLC was the low bid but did not meet specifications in the following areas:

- 1. No recessed receiver hitch provided along with other noted items associated with the hitch.
- 2. No rear view camera in rear of body.
- 3. Inside floor width is not 40" which is needed to mount air compressor in bed to maximize floor space.
- 4. Drawer layout was not as specified.
- 4. Plastic storage boxes not included.
- 5. Line X Bedliner not provided.
- 6. Custom made headache rack not provided.
- 7. Tracks provided but not mounted.